Special Problem 4.D-8

A radio engineer finds that in the circuit below, the second amplifier
will compress 1dB (i.e., saturate) when the circuit input power £, (the
power into the first amp!) is increased to +2.0 dBm. The first
amplifier is not in saturation when 2 (dBm)=+2.0.
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G(dB)=2? &(dB) =22 15 dB
R o(dBm)=+18.0 Rs2(dBm) = +15.0 attenuator

The radio engineer redesigns the circuit by moving the second
amplifier to the end. She now finds that the first amplifier will
compress 1 dB (i.e., saturate) when the circuit input power £ is

increased to +13.0 dBm. The second amplifier is not in saturation
when P (dBm) = +13.0.
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P .(dBm)=+180  dtffenuator P s.(dBm) =+15.0

Determine the gain of each amplifier in decibels.




